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'PART-I : COMPULSORY / WWI-I : aifard
GENERAL STUDIES / €GTHT 318994

- Which of the following diseases cannot
be cured by antibiotics?

(a) Tuberculosis

(b) Tetanus

(c) Measles

(d) Cholera

» Which of the following pairs is not
correctly matched?

: Charles Babbage

: Karl Benz

: E. Torricelli

: Michael Faraday

(a) Computer
(b) Radio

(c) Barometer
(d) Dynamo

. The communication satellites are
invariably

(a) revolving at their own speed

(b) stationary

(c) geostationary

(d) changing their track and speed

. For which substance among the

following, conductivity increases with
temperature?

(a) Copper

(b) Germanium
(c) Silver

(d) Iron

. The area of a regular hexagon of side
2/3 cm is

(@) 12V3 cm?
(b) 18V2 cm?
(©) 18 cm?

(d) 18V3 cm?

1. Fafafea & & fra 3 =1 sfesfas gm fem

7t o s wewar?

(a) &

(b) =4

(c) @&U

(d) s

. Fr=feafaa 7ot & & F9-w1 wd gifem =& 27
(a) FIX ;A A
(b) e : F A
(c) s 3o ZiAer
(d) S HEe SR
. 9N 39U "

(a) 3ot =T A A wHO S E
(b) FErwad

(c) W-Tom e

(d) 9T 9Y TF AT a%ed T@d &

. Fr=fofas werel 8 @ o Srewa awg F

1Y Fgdt 87
(a) dia
(b) HEfFEw
(c) T
(d) i

. 2/3 cm Y AT FHYSYS F HAEA A

(a) 123 cm?
(b) 18V2 cm?
(c) 18 cm?

(d) 18V3 cm?

[ P.T.O.
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6.1f 2x+2=3 -then the: yalue iof 6.uﬁ2x+%=3€f,?ﬁx3+_1§+2mrrm%
X X
x3+-—1—3-—+2 is 3
x (@) —
- 8
(a] = 19
8 (b) =%
19
(b) —
21
8 (c) T
21
(c) 5 £
d —=
d) Z 2
( 8

7. a2 fgEwt @fEo 2x2 + px+4=0 F
e 2 B, T 391 gE0 qE @

7. If one of the roots of the quadratic
equation-2x2+px+4=0 is 2, then the

other root is =2 |
@ -2 Pragt
(b) -1 (c)s ]
() +1 (d) +2

(d) +2 8. W 2018 ¥ fre tsw # &= Irgw ‘fosm

]
?
8. In which State was the military exercise il gl

Vijay Prahar’ held in May 2018? (a) HWEWTE
(a) Maharashtra (b) T
(b) Gujarat (©) UM
(c) Rajasthan @ e

(d) Madhya Pradesh

9. TEHed @d, 2018 H d=fiq &1 ufeen wwa
9. Who has won the Women Singles Title of ;

10.

GS-B

Badminton in Commonwealth Games,
20187

(a) Saina Nehwal
(b) P. V. Sindhu
(c) K. Gilmour
(d) Michelle Li

In the World Press Freedom Index,
2018, India is placed at

(@) 135th
(b) 136th
(c) 138th
(d) 137th

figara fraa ftar 27
(a) T AEATA
(b) o o firyg
(c) o iR
(d) fadie =it

10. 49 39 wdaa gEe®, 2018 # WG F

o

(@) 135af
(b) 136af
() 138af
(d) 137af
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In which of the following texts, it is
stated that those who could not speak
Sanskrit language correctly were called
‘Mlecchas'?

(a) Shvetashvatara Upanishad

(b) Gopatha Brahmana
(¢) Brihadaranyaka Upanishad
(d) Shatapatha Brahmana

Match List-I with List-1I and select the
correct answer using the codes given
below the Lists :

List-I List-IT
(King) (Spouse)
Chandragupta I 1. Dutta Devi
Samudragupta 2. Kuberanaga
Chandragupta I’ 3. Kumara Devi
Kumaragupta I 4. Ananta Devi
Codes :

(4. A ‘B €. D

1 R, s - (s R »
3 2 4 1
() A B € D
3 1 2 4
@ A B €& D
4 3 1 2

A

1. feffes T A e dsmm 2 5 3

GET ITON

Google Play

S

P VT IE T A g A IR R

ETESIGIE 11

(a) Harea Iufag

(b) M9y FTETT

(c) FEeRvEF IfAug

(d) w9y FTETT

12, -1 1 G-I & gafera Hifvrg qon gfet %

ﬂ%ﬁqwgmnﬁnmaﬁmgﬁu:
-1 Heft-11
(=) (i)
A. T g L. = et
B. g 2. gwm
C. sz & 3. Fuw &t
D. FHRW yom 4. 3=
Fe :
@) A "R o D
o DRBRL ) Sl S e
M)A BRSO D
<RSI e~ SR
(c) A & D
grotewmo 4
@) &S GB - G D
S o

[ P.T.O.
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17.9%a 4 fodt 59 ¥ Usaue ® we 3k

17. Who administers the oath of office and

secrecy to the Governor of a State in M= it 399 S e 27
India?
a) YHId <l Ugcﬂa
(@) The President of India e
(b) The Vice President of India (b) S 0 ITEEfy

(c) The Chief Justice of the High Court
of the State

(d) The Speaker of the Legislative
Assembly of the State

(c) TSY % I= AT H1 &I A
(d) T3 i faum aw w1 e

18. g1 dfum & frg wm # doEdt 09 % 9N

HIUHET i e F fEew fw e
18, Which Part of our Constitution
envisages a three-tier system of (a) wmMIX
Panchayati Raj?
(b) WX
(a) Part IX
(c) WM XI
(b) Part X
d) ¥ XII
(c) Part XI d)
(d) Part XII 19. fr=fafaa & @ forg Tsg & 9@ siasemen =&
&7
19. Which of the following States has no X
oil refinery? (a) T
(a) Gujarat (b) e
(b) Kerala (¢ =R
(c) Chhattisgarh (d) ufem e

(d) West Bengal

20. fr=foafan # 8 FR-d @ Rl § T

20. Which of the following rivers does not Tt 27
flow in Australia? .
(a) Hunter River (a) 7= f=r
(b) Flinders River (b) frred faw
(c) Orange River (c) et fax
(d) Gilbert River (d) fies? far

21. Which of the following States recorded 21. F=fafaa & & feg =1 & 2011 ) AT
decrease in its population in 2011 o SEE 1 g il BT 27
Census? —

(a) Kerala @)

(b) Sikkim (b) il
() Nagaland (c) TS
(d) Manipur (d) =T

GS-B

[ P.T.O.
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22. Which of the following is the most
effective measure of population control
according to Malthus?

(a) War
(b) Disaster
(c) Birth control

(d) Social evils

23. Which of the following is not a biome?
(a) Desert
(b) Grassland
(c) Ecosystem

(d) Tundra

24. Dudhwa National Park is situated in
which of the following States?

(a) Assam
(b) Uttarakhand
(c) Rajasthan

(d) Uttar Pradesh

25. According to the Fourth Round of
National Family Health Survey, the
current TFR (Total Fertility Rate—

children per woman) is

(@) 22
(b) 32
(€ 42
(@) 45

GS-B

GET IT ON
Google Play
22, Teyd ¥ IgEr fFrefafaa § § #E-81 3=
SrEE-FeEm 3 waifies w27
(a) 3=
(b) T
(c) -

(d) @I gl

23. frefafaa # @ #-a1 w Sfam @ 7
(a) IFFEH
(b) I H TS
(c) urifeufae o

(@ =

24. gHaT e g Greffas § @ e s |
e 27

(a) JHH
(b) 3ITUETS
(c) TSIEAH

(d) ST T

25, T¥T URaR @eed wEEm & ugd W% %
IER, FAHE H Ho The Ao (F TS
T — F= wia wfgen) 2
(@) 22
(b) 3-2

(c) 42

(d) 45
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26. Which of the following census years is 26. F=fafaa somn aef § @ 8 s A

known as the Year of Great Divide’ in ‘merfavsE w1 ad’ % B9 § S Sar 27
India?
(@) 1911
(a) 1911
(b) 1921
(b) 1921
(c) 111951 (¢ 1951
@ 1991 (d) 1991
27. SRI method is related to 27. Tho 3o o fafy weifem &
(a) wheat (a) ?r{ia‘
(b) cotton (b) FUH H
(c) mustard (©) @ A
(d) paddy (d) &= ® |
28. Which of the following pairs is not
correctly matched? 28. frafoflaa # | #9-w1 gw wdl gafera 7€ 27
Crop Insect-pest A #rz
(a) Groundnut : Pod borer (@) HTH el B
(b) Gram : Pod borer (b) = : Well DEh
(c) Paddy : Banka (c) wmM o
(d.] Maize : Stem borer (d) HaE] G| @Eq;

29. The rotation intensity of Maize-Potato-

Mung bean is 29, HeH[-3Ie]-41T % FHA-TFH ! godT &

(a) 100% (@) 100%
(b) 200% (b) 200%
(c) 250% (c) 250%
(d) 300% (d) 300%

30. Which of the following pairs is not 30. Fmfefaa § & #=-w 39 wd g‘ﬁﬁ‘lﬂ TE 27

correctly matched?

Crop . Variety :FH’H s
(a) Groundnut : Kaushal (@) HTHelt EahC]
(b) Mustard : Vardan (b) @ : 9@
(c) Linseed : Chamatkar (c) JIE : THERR
(d) Gram : Udai (d) = . &g

GS-B 9 [ P.T.O.
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8. Match List-I with List-II and select the 3. -1 1 g1 & gAfea Hifve aon giwi 5

correct answer using the codes given = T 7Y 2 1 wEm = EE W gAY
below :
=] =11
List-1 List-IT @ H.Q;w
A. Physiography 1. E. C. Sempl e il 1 seste
- . E. C. Semple
B. Influence of 2. R. D. Salisbury B. PRI M 2. SRe 3o HitrNd
geographic IERIPIRED
environment TR
C. Civilization and 3. Ellsworth C. fufoemem we 3. uegad wfdmeA
climate Huntington FATEE
D. The Pioneer 4. Bowman D. = U i 4. aie
Fringe 3 .
Codes : R
(a) A B C D (a) A B c D
2 18 3% 4 2 1& %8504
B)-A "By LGB (B). A B CL D
S T S e T e o
© A B C D (O nAL B UG D
A L 1° Had R IEa 2
@AT B¢ D R R g
2 1 < 3
2 1 4 3

4, Match List-1 with List-II and select the

correct answer using the codes given 4. @‘I £l T’ﬁ—II q gﬂﬁ%m e a9n ﬁﬁiﬂ &

below : #r fag Y F2 F W@ = w9l IR gAY
List-I List-II -1 eI=11
A. Concept of 1. Richthofen A Fa/fEsR 1. feuse
B ‘(:Jhomlo? f 2. Carl -
‘ la‘:l‘:i"sizp: o e B. SEW ) Wheddl 2. Hie-3A-HH
C. Concept of 3. Spykman e e o i
rimland D. fyw T=g it 4. Yz
D. Concept of 4. Ratzel LEZRE]
living state
T
Codes :
(a) A B C D
1 2 3 4
B A Beue D (b) ‘;‘ 2 :’ g
1 2 4 3
1 3 2 -+ 1 3 2 4
d@ A B C D d) A~ "B e D
2 1 3 -+ 2 1 3 4

/22-B 11 [ PARO.
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5. Match List-I with List-1I and select the 5. T-1 31 -1 & gafera A qon gferi % |

correct answer using the codes given I f e 2 1 S R A SR g -
below :
List-1 List-II @—I 'Qiﬂ—ﬂ |
AP't;S't lAlstCt A L e
; . ste
o % Aute Come | 5 syl 2, B
B. Behavioural 2. William Kirk C. W e 3. -G
Qebitioly D. dafafdar 4. fifte e
C. Humanistic 3. Yi-Fu-Tuan
Geography R
D. Neo-determinism 4. Griffith Taylor AT B c D
Codes : ] 2 8 %
AL TR 6 BA B € D
1 2 3 4 1 3 2 4
(BfA BT G e (A« B €D |
1 3 2 B 1 2 4 3
1 2 4 3 1 3 4 2 |
(d A B C D
e T 6. frm § A Frowy Rr B pie wm@ ¥
giEdeiie @Y & 3, FHES 991 Teh-aia
6. Who among the following stated that Ui U9 AT ¥ grafg 27
‘Geography’ is concerned to provide
accurate orderly and rational (a) F X |
description and interpretation of the .
variable character of the earth surface? (b) AT 9 TEEE
(a) Carl Ritter |
(c) ==
(b) Alexander von Humboldt
(@) = T

(c) Richthofen

(d) Richard Hartshorne

7. TR FraE F @l 90 # IR a @

7. The warm and dry wind blowing from E;n;;f?; TSI Sl e

North-East and East to West in the

Eastern part of Sahara desert is called (@)

(a) Harmattan

(b) Haboob Bp

(c) Bise c) <&

(d) Gibli (@) firedt

/22-B 12


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda

10.

(

oo w>

247

Earth receives energy (insolation)
through the electromagnetic short waves
radiated from the

(a)
(b)
()
(d)

photosphere
ionosphere

atmosphere
troposphere

. Consider the following statements and

select the correct answer from the codes
given below :

Assertion (A) :
The windward slope of Barchan is
steep.
Reason (R) :
The crests of Barchan indicate the
wind direction.
Codes :
Both (A) and (R) are true and (R) is
the correct explanation of (A).
Both (A) and (R) are true but (R)
does not explain (A).
(A) is true but (R) is false.
(A) is false but (R) is true.

(a)
(b)
(c)
(d)

Match List-I with List-II and select the
correct answer using the codes given
below :

List-I List-IT
Ocean Deeps ) ( Location )
Tonga 1. South Pacific
Challenger 2. North Atlantic
Romanche 3. North Pacific
Nares 4. South Atlantic
Codes :

(a) A B C D
1 3 & 2
(b) A B c D
4 3 2 1
() A B & D
1 - 3 2
(d) A B G D
4 1 2 3

/22-B
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8. 3wl fagqgedia g ol % mem ¥ s

0w s

(gatam) T Feh 8, R fadiot @ 2
(a) IO A
(b) STEHERRR §
(c) UeHRERR 3
(d) ZrERRR &
. Frefafen #o w fmw Fitm aa @ fA
nﬁ@%ﬂ'&ﬁmgﬁq:
HYA (A) :

TEH F YEHE 21 diF A )
SR (R) :

TEH % et yea-fown 9 3w @ §)

e :
(a) 2 () 3R (R) ¥& € (R), (A) Fi T
ST T B

(b) 2 (A) 7 (R) wE € frg (R), (4) F
el =T T8 w2

(€) (A) & 2 foFg (R) Tera B

(d) (A) T & frg (R) E& R
10. G-I = gEfi-11 | ghfea Hifvm @ gfedi &
e o T gz = o = wd I g
-1 -1
(weramTia Td) (srafeufa)
2Zm 1. gfEmft gem
AR 2. 390 3o
EiE ikl 3. I Y9I
Ere) 4. =igol sEaifes
F2
(@) AL BBE N E D
TR < 1 e L
b A" B €. D
R R ) 1
) A& Bl € D
1 g d-3
(@) AL SBEMICY D
7R IS
[ P.T.O.
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11.

12.

13.

14.

15.

Who said,
become”?

(@)
(b) R. N. Brown
(c)

(d) E. Zimmerman

“Resources are not, they

Gotz

R. E. Murphy

Shifting cultivation of which of the
following countries is known as Tamrai?

Sri Lanka

Myanmar

Philippines

Thailand

Which of the following countries is the
second largest producer of maize?

(@)
(b)
(c)
(d)

United States of America

Mexico

Brazil

China

Which one of the following countries

exports approximately two-thirds of its
wheat production?

(a)
(b)
(c)
(d)

Australia

Canada

Argentina

Germany

The logistic curve theory of population
growth was propounded by

(@)
(b)
(c)
(d)

Sadler
Doubleday
De-Castro
Pear]l Reed

/22-B

14

11. Fros Fy= &, HEYE B0 e, AW g7

12,

13.

14,

15.

(a) T

(b) 3ARe Tio I3

(c) Mo o HH

(d) Fo Tt

= 1 A TR 3 o N w TRE
F AW ¥ S Sl 87

(a) HiEH

(b) AR

(c) Trfada

(d) TS

f= & ¥ FF-91 S0 9w w1 g0 G998 =g
T 27

(a) HYE T AR

(b) AfFH

(c) TS

(@) =

Frfefaa 2t # @ FH-a1 399 W I F
v A-foers Frafa =t 27

(a) e

(b) AT

(c) CEriT)

(@) S

saEn gfe F wimies @ e @
wfearfea fram o

() HSERA
(b) =& A
(¢ -3
(d) vsl el

GET IT ON
Google Play
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Which of the following rivers is best
suitable as inland waterways?

(a)
(b)
(c)
(d)

Danube
Rhine
Volga
Elbe

Which of the following is not an example
of mining town?

(@) Kursk
(b)
(c)
(d)

Magnitogorsk
Cleveland

Tehran

In which of the following countries, a
traditional settlement is known as
‘Kampung™?

(a)
(b)
(c)
(d)

Indonesia
Myanmar
Malaysia

Thailand

19. According to Census of India 2011, on

20.

basis of size of population, the urban
centres are classified into how many
classes?

(@) 4

(b) S
(c) 6
d 7

Which one of the following patterns of
settlements develops along convergence
of several transport routes?

(@)
(b)
()
(d)

Star-shaped
Linear
Circular

Rectangular

/22-B

15

16.

17,

18.

19.

20.
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Pt TRl § 4 F-ah s s
¥ w9 1 T 39w 27

(a) =@

(b) T

(c) drem

(d) TeH

Frafafas 3 @ F-71 = @9 TR = TR
wE 27

(@) T

(b) v

(c) wefracivsg

(d) I&E=

Frfofea 3wt % ¥ foredl v wiwrm siftam
1 FGT F AW Y S S 27

(a) 3UERfREN

(b) AR

(c) wHafdmn

(d) omee

WRd # 2011 #F VAT F FER TR F

IS F ATEHR F AYR R a1 § st
T 37

() 4
(b) 5
() 6
(d) 7

% IfEed Al & fiem-we w fetaia
% § frm srftEmm-witey =1 fmm s 27

(a) TTI-TTHf
(b) Y&

(c) TEHR

(d) HFGTHR

[ P.T.O.
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26. Which of the following tribes has its | 26. = # @ fFg saenfa 6 sof s w1 ¥

origin in terai region of Uttar Pradesh? WS Tew H g 27
(a) Gonds (a) TS
(b) Nagas (b) =rm
(c) Todas (c) 2=t
(d) Tharus (d 9%

27. Which of the following Union Territories

. L ﬂ’
of India has recorded the highest 27. ¥ % 0 8 @ frm Feied w@w 3 2011

literacy rate in 20117 # gaffes waran a9 I 77
(a) Lakshadweep (a) @&EY

(b) Daman and Diu (b) &5 ©E €@

(c) Chandigarh (c) =vErE

(d) Pudducherry (d) gg=d

28. The ratio between total population and | 28. F TS T4 FA FU-4F & I HI
total cultivated area is called

(a) arithmetic density (a) TR T
(b) agricultural density (b) FR =
(c) economic density (c) T uea
(d) physiological density (@) T T
29. Which one of the following is not | o9 fififiga # @ =H-41 w @ity wgds A
connected with the Golden Quadrangle? B T# 27
(a) Belgaum (a) Farm
(b) Surat (b) T
(¢) Guntur © T
(d) Nagpur (@
30. g::(r;}}:e;g the following is not correctly a0 Pt S Eﬂ'r_cl?l T8 27
(a) Arunachal Pradesh—Apatani () SFEUTSE HT—ATTA]
(b) Kashmir—Hanji (b) TSI
(c) Nagaland—Ho (c) TSl
(d) Meghalaya—Khasi (d) HeTHE—aETH!
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31.

32.

330

34.

35.

Which of the following States of India
has the maximum per acre yield of
sugarcane?

(a)
(b)
(c) Tamil Nadu

(d) Uttar Pradesh

Maharashtra

Karnataka

Which of the following atomic power
plants has the maximum capacity?

(a) Kaiga

(b) Kalpakkam
()
(d)

Kakrapara
Kudankulam

Which of the following States of India
has monopoly of gypsum production?

(@)
(b)
()
(d)

Gujarat

Rajasthan

Jammu and Kashmir
Madhya Pradesh

Nathula Pass is located in
(a)
(b)
(c) Uttar Pradesh
(d)

Sikkim

Assam

Jammu and Kashmir

Which one of the following represents
correct pair of the rural-urban sex ratio
of India as per 2011 Census?

Rural Sex Ratio Urban Sex Ratio

(a) 943 922

(b) 947 924

(c) 944 923

(d) 949 929
/22-B
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31.

32.

33.

34.

35.

9 % Frafafaa osat § 4 e ™ = wfy
TFE I AfFHH 27

(a) HERE

(d) W W

Frfafaa v wfs @96t 8 @ Freh gma
watTu 27

(a)

(b) FHeru=H

(c) RIS

(d) FeTPe™

R § o Idmem § frefoafas 4 @ B
T 1 THIHHR 27

(a) TSI

(b) TR

(c) TP TH HYHR

(d) Wea W

MY W e B

(a) fafem 3

(b) @@mH

(c) S wewH

(d) ¥ v FeR |

2011 & AT & FgER Fefatea § @

HH-H1 9RA F A0 wE TG o s @
TE I TEGA A &7

Tretor formm srgue i o smuma

(a) 943 922
(b) 947 924
(c) 944 923
(d) 949 929
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36.

37.

38.

39.

|

Agasthyamalai Biosphere Reserve is
located in which of the following States
of India?

(a)
(b)
(c)
(d)

Kerala

Andhra Pradesh

Karnataka

Sikkim

Which of the following is the main
stream of Awadh plain?

(@)
(b)
(c)
(d)

Yamuna
Ghaghra
Son
Gandak

Which of the following hot spots is not
located in Western Ghats?

(a)
(b)
(c)
(d)

Annamalai Hills

Nilgiri Hills

Sunderbans

Silent Valley

Who among the following presented the
scheme of classification of forest?

(a)
(b)
(c)
(d)

0. H. K. Spate
H. G. Champion
R. L. Singh
Mohammad Shafi

. Which of the following is a warm ocean

current?
(a)
(b)
(c)
(d)

Brazil current
Canary current
Labrador current

Benguela current

/22-B
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(c) e
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i

(d) TT=H

frefefea § & #9-a1 g wie afead @2 §
e et 27

(a) =W veIfEAl

(b) e werreat

(c) H=TH

(d) WREAvE g

= § ] fres s 541 % Frife $i e
&g I o7

(@) o THo Fo T2

(b) TWo Sflo AT
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41. The broadest continental shelves are

41, 59 912 HEEIYg 99-4 9 I & |

found in the |

(a) fe= wemrR #
(a) Indian Ocean :
(b) STEAIfeH HETEFR A
(b) Atlantic Ocean
. (c) W HEEFR |
(c) Pacific Ocean
(d) Arctic Ocean @ A
42. Which of the following lakes has the fa. : A 9 e ¥ A 3 &
highest salinity? (a) s
(a) Titicaca (b) T
(b) Van () fr
(c) Victoria
(d) Serehe
(d) Balkhash
43. fafafas & @ F¥R-H@ g 90 e #
43. Which of the following currents flows gféqor | 39 A 3R warizd B 27
from South to North in Northern
Hemisphere? (a) BT Gr
(a) California current (b) a:@ﬁ@ H
(b) Kuroshio current (c) mm-a b1l
(c) Kurile current (d) TSR YW
(d) Alaska current
44, Fefafaa ¥ ¥ FA-m (dy gemrRl A
44, Which of the following deposits is found Halfe e aret |rT H ur S 87
at the deepest part of oceans?
P : () e g
(a) Red clay .
(b) STMZH Y
(b) Diatom mud ;
(c) T 9k
(c) Red mud ;
(d) Green mud )

/22-B

. Which one of the following is the cold

current of South Atlantic Ocean?

45.

frafafes & @ #R-d ol erewifs
HEMEPR il 381y 87

(a) Benguela current () =uen "
(b) Agulhas current (b) STIcTE™ =W
(c) Brazil current (c) TS °RI
(d) None of these (d) T8 A+ 98
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48.

49,

50.
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/4

. Pelagic deposits

consist of matter

derived from
(a) volcanic material
(b) algae

()

commutation of rocks

(d) chemical weathering

Which planet does not have satellite?
()
(b)
(c)
(d)

Mars
Uranus
Venus

Neptune

The word filament is used in
(@)
(b)
(c)
(d)

planetesimal hypothesis
tidal hypothesis

supernova hypothesis
inter-stellar dust hypothesis

A cloud of inter-stellar gas and dust is
called

(a)
(b)
()
(d)

filament
nebula
planetesimal
binary star
Inter-stellar .dust
propounded by

(2)
(b)
()
(d)

hypothesis was

Otto Schmidt
F. Hyole
Russel

Harold Jeffreys

/22-B
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46.

47.

YaToes S % v wiH B §
() SaTETHE! vl §

(b) = A

(c) EMI % Tl §

(d) TEEME qER |

e 7 1 1 Ire T 7
(a) T
(b) 37U
© W
(d) T

48. fremi= w1=2 =1 yam T man &

50.

(a) =Y REFeT

(b) I uftspew

(c) HAET gitewey &

(d) EREhE ge IiEedE |

.7 # Frega fe @ om F T H Rve B

e §

(a) fopemive
(b) e
(c) &Y

(d) AR

RS e IReed i wfaurfea e o
(@) 3 fime

(b) Tho ®e A

(©) a3

(d) s w3
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51.

52.

53.

54.

55.

/22-B

Who among the following stated that
landscape is a function of structure,
process and stage?

(a) W. Penck

(b) W. M. Davis

(c) Crickmay

(d) Strahler

Stone lattice is formed by action of
which of the following?

(a) Wind

(b) Water

(c) Wave

(d) Glacier process

Who among the following evolved the
theory of plate tectonics?

(a) Harry Hess

(b) Hallam

(c) W. J. Morgan

(d) Heirtzler

Which of the following rivers forms
Arcuate Delta?

(a) Mississippi

(b) Ganga

(c) Nile

(d) Hudson

Which of the following landforms is not
the product of glacial erosion?

(a) Cirque
(b) Nunatak
(c) Horn

(d) Drumlin

22

51.

53.

54.

= 4 A e wa o1 T el s,
T TE STaRYT 1 Fel 87

(a) I=Fo ¥

(b) o THo @

(c) Toreh®

(d) TR

wh afw freffes 3 3 frh frn gm
afifa 2 &7

() 97

(b) S

() R

(d) feart wwm

= % & frm wie faadbd frema =
wferas fean?

(@) B W

(b) ETe™

(c) T=Fo So HIH

(d) iR

frafafes § ¥ FR-@ T wEER I
TR 27

(a) Tt

(b) T

(c) =

(d) wgE

i

= 3§ @ e semsft & Fafo R s
¥ =i gan 27

(a) &H
(b) TS
(c) ®H
(d) gHfeH
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Gently sloping depositional plains
between pediment and playa in arid and
semi-arid region is called

(a)
(b)
()
(d)

bajada

erg

reg

salina

Which of the following is not an
erosional landform?

(a)
(b)
()
(d)

Karst window

Dolines

Lapies

Stalagmites

Which of the following landforms is
formed due to abrasion work of wind?
(@)
(b)
()
(d)

Stone lattice

Sand dunes

Ripple marks
Loess

Who among the following is propounder
of polar front theory?

(a) J. E. Oliver

(b) V. Bierknes and J. Bierknes
(c)
(d) None of them

P. R. Pinet

Among the following epochs, which one
is associated with Great Ice Age?

(@)
(b)
(e)
(d)

Eocene
Pleistocene
Pliocene

Oligocene
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HISTORY / 3fag™@

The leader of the Revolt of 1857 in
Bihar was

(a) Tantia Topi

(b) Nana Saheb

(c) Mangal Pandey

(d) Kunwar Singh

Consider the following events and
arrange these in chronological order and

select the correct answer from the codes
given below :

1. Treaty of Srirangapattanam
2. Treaty of Surat

3. Treaty of Salbai

4. Treaty of Bassein

Codes :

(a) G123

b 2, 3,1, 4

€) 1,2,:3, 4

(R)u=q==3. 220 ]

. Who amongst the following considered

the activities of Baptist Missionaries in
India ‘subversive’?

(a) Bentinck (b)
(c) Wellesley (d)

Macaulay
Hastings

. Which Mysore War ended with the

Treaty of Mangalore?
(a) First

(b) Third

(c) Fourth

(d) Second

. Before Dalhousie, the Doctrine of Lapse

was applied on the State of
(a) Mandwvi

(b) Kolaba and Jalaur

(c) Surat

(d) All of the above

24

1. fer # 1857 % fage & 9= 2

(a) T I™
(b) T HTed
(c) e 9IS
(@ Ffie

2. fm geiet W faEw fifsm 9 3R Fa-

FAGER Fafeya Hifs R fi= fiw g =
WA TR el IW H1 T4 G

Aoz i 5
A H /"

s a9y
gd (M) i |9ty

rgj:hS»Pr-

(8}l 41,2,
(b) 2,8, 1,
(e} 1,2, 3,
d 4,3, 2,

(SR SR NS A

3.3 ¥ FFen wra # aufewm frmfEl A

nfafafet 1 e qm?
(a) @few (b) FeFia
(c) s (@ =

4. -9 AR J& TR H G F @y qum

gen?
(a) F989

(d) fadm

5. Soesl & Ygd 9o %1 e # R =

R AT R g 97
(a) wred

(b) HreTEn FR AR
(c) Ha

(@) 3T w
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6. East India Association was established 6. e 1 ‘S 3fved wHiftweE i e 6 oft

in London by

(a) Bal Gangadhar Tilak (@) =Tl TMER ferer A

(b) Subhas Chandra Bose (b) NS T ey

(c) Dadabhai Naoroji © T A

(d) Raja Ram Mohan Roy @ T S
7. The Census Commissioner, for 1891

Census of India, was 7. WA ! SFUET 1891 F SHIVAT AIYE 3

(a) Plowden (a) TelEA

(b) Baines (b) =4

[c) Risley (c) =

(d) Gait @ N

8. Match List-]I with List-II and select the 8. T A @-—II Y AR B el 03 ﬁq

correct answer using the codes given

below : MY F2 FT TE F GE I H GG A9
List-I List-II HEt-1 -1

A. 1854 AD 1. Sir Charles A. 18543 1. fomn MW IE 3=
Wood’s Despatch #1 fed=
on edReRion B. 1882% 2. dgen Rwafiarem

B. 1882 AD 2. Sadler University >
Commission v

C. 1904 AD 3. Hunter Education C. 19043 3. ¥ Fan s

Commission D. 1917 3¢ 4. vra™ favafaemem

D. 1917 AD 4. The Indian srfefag
Universities Act

TE:
Codes : -~ - AR
(a) A B C D 1 3 4 5
1 3 & 2
{) A =< IBASRE - L D)
(b) A B & D 1 4 3 5
1 4 3 2
c) A B G D
(c) A B 2D 3 o Ly
4 2 1 3
(@A BTG D
d A B C D 5 . s .
4 1 2 3
9. Dakshineshwar is associated with 9. FfaRaR “‘T"ﬁm ®
(a) Maharshi Dayanand (a) Wef =are &
(b) Rabindranath Tagore (b) Tzg T H
(c) Ramkrishna Paramhans (c) THF THEE °
(d) Aurobindo (d) =T H
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10. Who amongst the following was not

11.

12‘

(a) B. G. Tilak
(b) Aurobindo
Ghosh

(c) J. L. Nehru
(d) S. C. Bose

13.

(@)
(b)
()

(d)

(Organization)
All India Kisan
Sabha

Atmiya Sabha

Forward Block

Ram Krishna
Mission

associated with Deoband School?
(a) Shah Abdul Aziz

(b) Mohd. Qasim Wanotavi
(c) Rashid Ahmad Gangohi
(d) Mohmud-ul-Hasan

In the era of moderates in the Indian
National Congress, the title of Indian
gladstone’ was given to

(a) Gopal Krishna Gokhale
(b) Dadabhai Naoroji

(c) Moti Lal Nehru

(d) Firoz Shah Mehta

Match List-I with List-II and indicate
which of the following is not correctly
matched.

List-I
(Author)

List-IT

(Work)
Geeta Rahasya
The Ideal of
Human Unity
The Unity of India
The Springing
Tiger

Which of the following is not correctly
matched?

(Founder)
Mahatma Gandhi

Raja Ram Mohan
Roy

Subhas Chandra
Bose
Vivekananda
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10. T8 ¥ FF TFE=< T 4 T8 32 A7

11.

(a) T 3Tegel SAsisl
(b) Tio FfEW FHIG
(c) Wi 7@ e
(d) HeHR-3d-7H

YR T W % IRaE g1 § 9
HeRM 6 Iy &
(a) TIOTE T TGS i

(b) TTETHTE RIS
(c) Wi J5& H
(d) TR wmR FEa

12. g1 # gE-11 @ gafem $ifve 3 3@

Hifse 6 fi= & & F9-m v gafea = R
-1 Tei-11
(vrere) (F)

(a) @o Sfio foe Tar T

(b) awfert wi 1d mEfeTe 311% g
g

(c) So Teo TE® fa g2 37w shear

(d) THo Hio ™ fa fefir zrem

13. 79 & | FH-11 vé gafer =4 27

(T ) ( wermTw )
(a) o zFem fFam @ weEem md
T
(b) =TeHIg | ;ST I T
(c) FEE A DI u |
(d) T fem : fewm=

GET IT ON
Google Play

|


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addae47

14. With reference to Mahatma Gandhi, | 14. 7eE Tt & w=ry ¥, F=fafes 9= 3 @
which of the following statements is/are FH-91/R W /27
correct?

L 1920 %o # IEM WM A<M
I. He launched Non-Cooperation IRy T

Movement in 1920 AD.

. 38R aW e 59 W B an
1. He started the Gram Udyog Sangh.

9 fw e Fz H wEE@ @ TH W T T

1
|
Select the correct answer using the Eﬁ\ﬁm J
codes given below : ; |
Codes : |
L
(a) Only I
(b) Only II
(b) Faa II

(c) Both I and II
(c) 13113
(d) Neither I nor II
d T@IsRIF N

15. The proclamation of formation of

provisional government of free India was 15. g9 93 9 3 @iefie gra ) surh 9w
made by Subhas Chandra Bose on ¥ T3 ) =y F o

(a) wad I
|
|

(a) 19th October, 1943 (@) 19 TER, 1943 Fi

(b) 20th October, 1943 (b) 20 3TEeR, 1943 FHl

(c) 21st October, 1943 (c) 21 3R, 1943 F

(d) 24th October, 1943 (d) 24 R, 1943 e

16. After India’s partition in 1947, who was

made the supreme commander of the 16. 1947 # wra-fvrm % aw fra m @
Joint Defence Council assigned with the afufd, z‘f %ﬁm;ﬁmﬂﬁ, m ; I
duty of division of military personnel, gt & fErSr l?%trﬁaltl y I
arms and ammunitions? Yat= YTafe ST T

(a) Redcliffe (a) YSfRTH

(b) Mountbatten (b) HIE=ZeA

(c) Ismay (c) T

.(d) Auchinleck (d) R I ERED
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17. Among the following, the credit for
starting the study of pre-history of India
goes to

(a) Commiade
(b) Robert Bruce Foote
(c) H. D. Sankalia
(d) De Terra
18. The bone image of the mother goddess
has been found from

(a) lower Paleolithic age of Vindhya
valley

(b) middle Paleolithic age of Sone valley
(c) Mesolithic age of Bagor
(d) upper Paleolithic age of Vindhya
valley

19. The lowest deposit of first phase at
Dholavera belongs to which culture?
(a) Neolithic culture
(b) Pre-Harappan village culture
(c) Mature Harappan culture
(d) Late Harappan culture

20. ‘Seven fire alters’ have been found in the
citadel of which site?
(a) Harappa
(b) Mohenjo-daro
(c) Lothal
(d) Kalibangan

21. The evidence of the rice cultivation has
been found from which of the following

Harappan sites? Select the correct
answer from the codes given below :

I.  Kalibangan
II. Lothal

ITII. Mohenjo-daro
IV. Surkotada
Codes :

(@) Iand II

(b) I and III

(c) I and III

(d) II and IV

/22-B 28
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el & gt 27
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(a) @S
(b) HiEASEE!
(c) o
(d) FrefEm

21. = wevim Wl 4 A 0 9me A a6 F
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22.

23.

24.

25.

26.

/22-B

The evidence of the Butchering area has
been found from

(a) Mahadaha
(b) Chopani Mando
(c) Damdama

(d) Sarai Nahar Rai

The eastern limit of the Harappan
culture was

(a) Ropar

(b) Sanghol

(c) Alamgirpur

(d) Rakhigarhi

In which Mandala of the Rig Veda,
Gayatri Mantra is written?

(a) Fourth

(b) Second

(c) Third

(d) First

The earliest reference to the

identification of Narayana with Vishnu
is traced in

(@) Taittiriya Aranyaka
(b) Mahabharat
(c) Mahabhashya of Patanjali

(d) Baudhayana Dharmasutra

Among the following, who was not the
Vedic sun deity?

(a) Savitri
(b) Vishnu Urukrama
(c) Vishwakarma

(d) Savita
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22. IISEMI & FI LA TW g0

23.

24.

25.

26.

(a) TEEE A
(b) =g AEl A
(c) <9 &

(d) HUE AR TE 9

FEw FEpT 1 g i o
(a) TS

(b) HHIE

(c) R

(@) TEE

Frae % g avea # ‘ml v foran T 7
(a) =gd
(b) Tdm
(¢) i

(d) 9uH

ARV % Wy W) % AR @ YEHee 3ge
TH e

(a) dfiE smuas &

(b) WA ¥

(c) Tdsited % HETHTS |

(d) e i |

T @ F Afee g 9 T A7
(@) wfes

(b) foeuy Fepm
(c) Tava=mi

(d) wfaa
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27.

28.

29.

30.

31.

/22-B

Kanishka was the follower of which form
of Buddhism?

(a) Hinayana
(b) Mahayana
(c) Vajrayana

(d) None of the above

Who convened the first Jain Council?
(a) Bhadrabahu

(b) Gardabhilla

(c) Sthulabhadra

(d) Devardhigani

Where did Bhagwan Buddha deliver his
first sermon?

(a) Bodh Gaya
(b) Shravasti
(c) Kushinagar

(d) Rishipattan

With which religion, ‘Bhagavati Sutra’ is
associated?

(a) Buddhism

(b) Jainism

(c) Brahmanism

(d) None of the above

Who were ‘Agronomoi’ in
thenese’s writing?

Megas-

(a) Provincial officials
(b) Police officials
(c) District officials

(d) Town officials
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27. Fieh dgud ¥ e wwEm = sganh a7
(@) &
(b) HEHEM™
(c) oM
(d) 39w § A 7 T

28. woH 9 wiufa e smga i it

(a) ¥=aTg
(b) TG
(c) ¥R
(d) =aftfion

29. WEH & 7 A1 Yga 3959 Fal o4 o0t
(a) =GR
(b) HTaEdt
(c) FR
(d) R

30. ‘A g3’ e o § gy 27
(a) g

(b) SEH

(c) s g

(d) 9w § & = 7

HreelS % wEd A 3fghen WiAmE #8997
(@) W= st
(b) gfe s
(c) T & AAferrdt
(d) TR & sftrh

31.
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32. The Syrian envoy, Deimachos visited the

GET IT ON
Google Play

32. Hifen 1 Teigd, sEWEE TR A wEE F

court of which Mauryan king?

(a) Chandragupta

TER H AT 917

(a) ==
(b) Bindusara (b) ﬁg&m
(c) Ashoka © 5
(d) Dasaratha

(d) <Ry

33. Mathura pillar inscription of Gupta Era
61 belongs to

33. W §HEq 61 F 9Y0 TEH-o1E grEfed @

(a) Samudragupta (2) WEFW A
(b) Chandragupta II (b) ==m fecfrm &
(c) Kumargupta (c) FATE A
(d) Skandagupta (d) T=<THa

34. What was the name of the mother of

34. TSN WH Y |Gl 1 991 919 417

Rajaraja I?

(a) Tlangonapichchi (a) IEEIAMNTE

(b) Panchavana Madeviyar (b) == AR
(c) Banavana Mahadeviyar (c) «HEA HERfEER
(d) Vanavana Mahadevi (d) FHEE HEREl

35. Who among the following Chola rulers
was titled ‘Gangaikonda™

35. 399 9 g =i wmas & 3Ty Tiee’ ofi?

(a) TSATS
(a) Rajaraja T
b TgH
(b) Rajendra I @
g
(c) Parantaka te)
(d) e wgm

(d) Aditya I

36. The author of Second Rajatarangini was

36. f2dlg gFTaRfiof % =AFR 9

(a) Jonraj (@) S
(b) Kalhana (b) HeEm
(c) Shrivara (c) #i=r
(d) Jaideva (d) ="

/22-B 31
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37. Arrange the following reign period of the 37. Trafafaa sl F ETHE B FEEd §

rulers chronologically. Select the correct =afeya i 3K F= i T g2 H wEn w® |
answer from the codes given below : HE I F 999 FIfSE ‘
1. Muhammad bin Qasim 1. Herwe fam wiftm J
2. Mahmud Gazanvi 2. WO TR

3. Timur 3 'aTEI

4. Changez Khan 4. 5 @E

Codes : = .

Bl (a).l 4,2, 3

il (b) 1,2,4,3

R © 2,341

4 4, 1,2, 3

d 41,23 : l

38. Consider the following statements :

38. fr=fefaa oAl w faEr Hifdw - |

I. Prithviraj Chauhan was the
contemporary of Khwaja Muinuddin L g eH, S gEgER fd %
Chisti. FHFIGH 9
II. Ghiyasuddin Tughlaq was 1. fagdn oo, femgds it %
contemporary of Nizamuddin Aulia. HHFAA 9|
Which of the above statements is/are IFEwFYA B A P91/ 9 B/E?
true?
(@) a1
(a) Only I
(b) Only II () =
(c) Both I and II (e) 13RI
(d) None of the above (d) ﬁ QT
39. Who built the ‘Quwaat-ul-lslam’ | 39 F=0-3-FH for w1 fmio e
mosque? e
(a) Aram Shah (@) =A™ MR
(b) Iltutmish (b) Fegafim
() Qutubuddin Aibak (c) FIgEH WF
(d) Nasiruddin (d) “REER

/22-B 32
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40. With reference to Iltutmish, which of the
following statements is/are true?

I.

Iltutmish  got his  authority
recognized by the Khalifa.

Iltutmish  captured Lakhnauti
defeating Sultan Ghiyasuddin of
Bengal.

Select the correct answer using the
codes given below :

Codes :

(a)
(b)
(c)
(d)

Only 1
Only 11
Both I and 1II

Neither I nor II

41. Who was the Yadav king of Devagiri at
the time of Alauddin Khilji’s invasion?

(a)
(b)
()

(d)

Prataprudradeva
Harivarman
Kakusthavarman

Ramchandra

42. Which of the following is mot correctly
matched?

(a)

(b)

(c)

(d)

/22-B

Event Year

Assassination of Sultan 1296 AD
Jalaluddin Khilji

Khizra Khan captured 1414 AD
throne of Delhi

Sikandar Lodi founded 1504 AD
new town Agra

Battle of Kannauj 1530 AD
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40. segamy & fava A, Fefafes =uH & 3
PH-T1/3 wd B/E 7

I Tgame A S WS H A @l
BRI 9T |

II. Sogade A sma % geam Pagem
T TEA T SR |

T o T gz A wEEa @ 9d I w T
Hifr

He :
(@) a1

(b) Fad II

() 1313
(d JI@IRIAN

41, JREH faesh & Fan F g99 @il =
ed ITEE FiF 917

(a) JaTuEEed
(b) EhEHA
(c) g
(d) TEE

42, frafafea § ¥ FF-w wd gafaa 7@ 87
e EL]

(a) Fead FeTGgEH faesi 1296 3o
I g

(b) Taw @f 3 R = figmw 1414 %o
TR TR

(c) T aF 3w 1504 $o
TR PR 1 T

(@) F F g 1530 %o

[ P.T.O.
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43, Prefafas wezmell # FemagErR FEfem

43, Consider the following events and

/22-B

arrange these in chronological order and
select the correct answer from the codes
given below :

1. Timur’s invasion

2. Introduction of token currency

Hiferg aen 4= e U F2 F W ' W
1 TG I :

1. O F SABHAY

2. Wihiae GAT H T

3. Market control policy 3. e e i
4. Revolt of Malik Chhajju 4. i o] 1 Fmre
Codes : e

(@) 4,1,3,2 () 4, 1,3, 2

(b) 3,4,2,1 (b) 3,4, 2,1

() 4,3,21 € 4,3 2,1

d 1,234 @ 1,23, 4

The Dargah of Shaikh Salim Chisti is
located at

44, 3@ g favd =1 30me P &

(a) Lahore (@), R
(b) Ajmer (b) SRA
(©) -Agha (c) rm#
(d) Fatehpur Sikri (d) hOEg Herll #

45. Arrange the following in chronological | 45. fifaflad #1 sht fmiv-fafs % wn
sequence of their constructions and IR ﬂﬁ‘-ﬂ{ a1 4= ﬁ'l!. RILEE TAC | T T
choose the correct answer from the el I F F94 Hifu -
codes given below :

1. v e
1. Agra Fort

2, %l EZl
2. Red Fort, Delhi Rl = =
3. Qutb Minar 3. ¥
4. Taj Mahal fhee SSRGS
Codes : e
(@ 1,234 (@ 1,23, 4
(b) 3,1,2, 4  3,1,2 4
© 21,3, 4 {c)- 2,1, 3,4
(d 3,4, 2,1 d 3,4,2,1

34
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46. The term ‘Kirori’ was applied to a
revenue officer during the
administrative system of

(a) Alauddin Khilji

(b) Mohammad bin Tughlaq

(c) Sher Shah

(d) Akbar

The ruler of Vijaynagar Empire,
Krishna Dev Rai gave patronage to

(a) Vallabhacharya

(b) Madhavacharya

(©)
(d)

e

7

47.

Ramanujacharya
Nimbarkacharya

48. Which of the following is not correctly

matched?
(a) Deva Raya Il : Abdur Razzak
(b) Mohd. bin Tughlaq : Ibn Batuta

Mahmud of Ghazni: Alberuni
Balban

(c)
(d)

To which religion, the Shri Sect is
associated with?

(@)
(b)
(c)
(d)

: Marco Polo

49,

Shaivism
Vaishnavism
Buddhism
Jainism

50. During Akbar’s reign, one ‘Dam’ was
equal to how many paise of the current

decimal currency?

@ 1+

4
1
LS

() 02

1
@ 2

Under the Mughal
‘Mir-i-Tuzuk’' denoted
(a) chief secretary

(b) chief finance officer
(c)
(d)

51. Empire, the

chief justice
police official

/22-B 35
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46. TR’ = et woefE sgewn § e
Attt % oy foran s an?

(@) maaqﬁamﬁ
(b) Few fom g
(c) ¥reame
(d) TR
47. ToETR I % WS FWRE T 3 Wan
o
(a) Tg¥EE #
(b) HEETETE
(c) THEEEHE F
(d) Framred =
48. fmfvifiaa § @ F9-u1 v gafea w4 27
(@) mfEdm  : swglems
(b) Fo fom gre : ¥ 5@
(c) WEHE TSFEl  : STETEe!
(d) = : W] Grel!
49, fl e’ frg of @ wafEa 37
(a) Fraud
(b) Sreorre
(c) drgud
(d) SHud

50. 3R F NEEEHE § Yoferd U TW vmed

a1 § foree B9 3 s off?
() 141

1
(b) 17

[ P.T.O.
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52. Arrange

53.

54

the following events in
chronological order and select the
correct answer from the codes given
below :

1. Revolt of Khurram
2. Battle of Chausa
3. Battle of Dharmat

4, Revolt of Khusrau

Codes :
@ 1,2 3,4

(b) 4,3,
) 4,1,3,2

d 2,41,3

During the reign of Akbar, what
percentage of produce was collected
from cultivators as land revenue?

(a) 16% % (b) 20%

© 3319
3

() 49%%
The word Paibaki’ denoted

(a) a temple

(b) a tax

(c) wunion of village

(d land

55. Which of the following works was given

the title of Razmnama by its Persian
translators?

(@) Leelawati (b) Mahabharat

(c) Ramayan (d) Atharva Veda

/22-B
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52. 9 geAel # FeHEAEER At Fig

g1 4 fiw Mo FE w oWET W G W H
=74 HIfT

1. gin foEe
2. = F I
3. RHd F IS
4., gal = fade
Fe

(@ 1,2, 3,4
(b) 4,3,2,1
(©) 4,1,3,2
i4) -2, 4, 153

53. FE & WEAHE H 99 H oA wfawa

-TerE % w9 | Rt | fomn s an?
(a) 16%% (b) 20%

1 % loo
() 335 % (d) 493 %

54, Yarhi T | aad o

(a) ¥R
(b)
(c) il =1 WE
(@ +@

55. =1 # @ frm o 1 6% wrEt sigarRs! g

‘e sfids e mn?

(a) eemradt (b) HENRA

(c) THET (d) 3reEae
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56. Match the years with the places of | 56. Wia & gdmfEl g7 W fw o T =) 3%

occupation by the Portuguese in India a1 & gafe i a1 9 Ry ™o =
and select the correct answer from the AN & IW F =59 A
codes given below :
: A, FieArHe TS 1522
A. Calicut 1 1522
B. Cannanore 2. 1525 B. - %iHR A
C. Dhabol 3. 1500 C. ww 3, /1900
D. Ponnani 4. 1502 D. W= 4. 1502
Codes : ®e :
1A B iieChniD (E)PARES B SE YD)
R e 8 (| 2 TR0
b) A B (i &) (b) A B o 2R )
Bl 1 g & 4 1 8, »i2
(¢) A " BEHROLRD (o). A praBis LG 1D
1 4 2 3 1 4 25013
@ AL B e . D A= R 0 B
3 4 1 2 3 4 1 2
57. Which of the following places was [ 57. = § § @ wm =1 1661 # ghma gw
passed out to the British as a marriage S TEY IS B eI T
b rtugal in 1661?
dowry by Portugal in @ T b T
(a) Goa (bp) Daman 4
(c) Bombay (d) Quilon (c) § (d) et
58. Which of the following is not correctly 58. = & 9 FF-w vl ﬂ'ﬁ%ﬂ T &7
matched? et fafer
Event Date (a) =% B 20 ¥, 1756 $o
(a) Black hole 20 June, 1756 AD ”
(b) Battle of Plassey 23 June, 1757 AD (b) R I8 23 5, 1757 %o
(c) Battle of Buxar 22 October, 1764 AD (c) =9 FI T4 22 IAFH, 1764 o
(d) Treaty of Deogaon 17 December, 1818 AD d) Iita 6 5 17 feerar, 1818 3o
59. Hindu Widow’s Remarriage Act was ( )
passed on 59. fﬂﬁ‘ﬁlﬂﬂl aﬂiﬁals SAtufEs’ aifm B 1
(@) 24th July 1856 (a) 24 Y15 1856 Fl
(b) 25th July 1856 (b) 25 IS 1856 FH
(c) 26th July 1856 (c) 26 s 1856 i
(d) 28th July 1856 (d) 28 T,J‘an 1856 &I

60. Who was the Mughal emperor during 60. 1857 ¥ e ¥ W e wEs 9 A
the Revolt of 18577?

(a) Bahadur Shah Jafar (a) ETEY R EFE{
(b) Mohd. Shah Rangeela (b) HEHHE WITE Tften
(c) Jahandar Shah (c) wiEfat we

(d) Shah Alam II (d) SR A 11

/22-B 37 [ P.T.O.
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ECONOMICS / 31iviTe

. Who is the Chairman of the Fifteenth

Finance Commission?
(a) A. K. Chanda

(b) N. K. Singh

(c) Y. V. Reddy

(d) K. C. Neogi

. ‘Take off stage’ in an economy means

(a) steady growth begins
(b) economy is stagnant
(c) economy is about to collapse

(d) all controls are removed

. Which one of the following is mnot an

obstacle in economic development?

(a) Imperfections of market

(b) Demonstration effect in consumption
(c) Favourable terms of trade

(d) Vicious circle of poverty

. When the price of capital is more than

that of labour, the techniques should be
(a) capital intensive

(b) labour intensive

(¢) fixed

(d) mixed one

. John Robinson’s growth model deals

with

1. actual growth rate

2. possible growth rate
3. natural growth rate
4. warranted growth rate

Select the correct answer using the
codes given below.

(a) 1, 3 and 4
(b) 2 and 4
() 1 and 2
(d 3 and 4

/22-B

38

1. T=Ed e amam = s FE 20

(a) To FHo =T
(b) o Fo TR

(c) F®o Ho &
(d) Fo Ho FrEFh

. TF apefemaeyn 2 e R @ & R

(a) Had T I A &
(b) e fRR & Sl 2
(c) wefoHeEy aw B & F T Edl &
(d) et o @ A 9 &

. Prefafas & ® sR-w1 & S fawm 3

a1 T R7

(a) TSI YUY
(b) 39 & yeRia uNE
(c) AR HI gHES A
(@) T =1 gv=s

. v g5t il Fima 5 Fi Fa i oW Aftw

A, @ R B =R
(a) 50 e

(b) #H TTEA

() &R

(d) fufia

.mﬂﬁm%ﬁqﬁmmm%

ELEERCE EACE

i Tefg | &

Wi Hgte & |

anfie dafe w &

F9 g T F2 F WM W T IR F I
it |

@ 1,334

(b) 23R4

€ 132

(d 334

SR

1
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6. Match List-I with List-II and select the
correct answer using the codes given

below the Lists :

List-I
. Critical minimum
effort theory
. Economic develop-
ment with unlimited
supply of labour

. Steady-state growth
theory

. Harrod and

. Leibenstein

. John Robinson

List-II

Domar

Golden Age of 4. Lewis
full employment

equilibrium

Codes :

a A B C D
1 3 4 2

b A B C D
2 4 1 3

) A B C D
4 2 1 3

d A B C D
3 4 1 2

7.In which year was Rajiv Gandhi

Grameen Vidyutikaran Yojana’ initiated?
(@) 2004
(b) 2005
(c) 2006
(d) 2007

8. When was ‘Beti Bachao, Beti Padhao’

/22-B

announced by the Prime Minister?
(a) 22nd January, 2015

(b) 25th September, 2014

(c) 2nd October, 2014

(d) 16th July, 2015

39
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6. eI %! GeI-11 & Gafera v afr 4R fe

Y Fe il HEH | FE IW AT ;
-1 -1
A. Hifdh <Fa9 TEE 1. WSIMIR
fogra
B. ¥difta o9 smyfd % 2. offemem
Y e fasm
C. wad fawm frgrm 3. =i A
D. of 49 Hge =1 4. wfd\
s

%e :

@) "AEB €. D
153 gy

@) "“KeptBi . €D
DEAE 1 -8

ey - AR, AcE Py
4= gl W4E a9y

B8R A B © 4D
3ihsgie 4l g

7. ‘TS TR oo fedew dee’ e ad

IR T mn?
(a) 2004
(b) 2005
() 2006

(d) 2007

8. YT ER wE I w=1af), 99 veren’ Hifvg

o T ?

(a) 22 sHad, 2015
(b) 25 fawr, 2014
(c) 2 3TER, 2014
(d) 16 JaTE, 2015

[ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda

24

9. What was the India’s rank among
130 countries in the Global Business
Resilience Index, 2017 released
recently?

(a) 40

(b) 50
(c) 60

(@ 70

10. When was the National Rural Health
Mission launched?

(a) March 2004

(b) April 2005

(c) December 2006

(d) February 2007

11. What is the basic cause of rural poverty
in India?

(a) Unnecessary social expenditure

(b) Unemployment

(c) Debt and exploitation by Mahajans

(d) All of the above

12. On the basis of Census Report, 2011,
the share of urban population in
Uttar Pradesh is

(a] 9-3%

(b) 11-8%

(©) 13:5%

(d) 14:2%

/22-B 40
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0. 7@ @ # 9 Wew ferm Wifedw 24,
2017 # 130 39 § | WRG F TIH 71 417
(a) 40

(b) SO

(c) 60

(d) 70

10. TEE Tl wWeA fiEe w9 W get
(a) WM 2004
(b) 3¥E 2005
(c) fewm=R 2006

(d) W& 2007

11. §a & rdtor e 1 snumeE SR 87
(a) FFTETIE QIS FT
(b) =TI

(c) VI Td WETSHI &I o]

(@) 3T wf
12. 2011 SAUAT RO % YR W IR Wew A
TR SR i fEET
(@) 9:3%
(b) 11:8%
(€ 135%
@ 14:2%
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13

14,

15.

16.

/22-

. Which of the following denominations of
Treasury Bills is not vogue in India?

(a) 91 days

(b) 182 days

(c) 273 days

(d) 364 days

In Infant Mortality Rate (IMR), the
maximum age of infant is considered as
(a) one month

(b) six months

(c) twelve months

(d) sixty months

Green farming involves

(a) emphasis on food crops,
horticulture and floriculture

(b) avoiding pesticides and chemical
fertilizers while focusing on
horticulture and floriculture

(c) organic farming and emphasis on
horticulture

(d) integrated pest  management,
integrated nutrient supply and
integrated natural resource
management

In India, the dollar-rupee exchange rate
depends upon

1. Government control

2. demand-supply balance

3. RBI's monetary policy

Select the correct answer using the
codes given below.

(a) Only 2
(b) 1 and 2
(c) 1 and 3
(d 1,2 and 3
B 41

GET IT ON
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13. wra # Fefafea 3 | fra fae % 30 R

e | TE 27
(a) 91fH
(b) 182 &=
(c) 273 fH
(d) 364 &

14. fig] 3R (MR) # forg A sfman sy
Bt

(a) T TR
(b) B:
(c) <HE HIE
(d) €T =T

15. #a @ § affem &

(a) @RI FHe, AFEHI Td JHFEN W SR

(b) FEF U JEFEN W @F FZa =@
B AR 71 TEEE I | 99E

(c) = @t W@ arErE W SR

(d) wufFa #e yEu, @fFd dws w9
AYf T FEF WiHfos wEEE yEy

16. 9Rd H STer-¥9¢ 61 fafmg =t fft <t &

1. R e

2. HiM3 Yfd % HgeH W
3. Tord & 1w 3R i Bfew Aifa w

TR e T 2 = wEm W GE I F 9
i

(@) a2
(b) 1 3R 2
) 13Rr3
d 1,23R3
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|
17. Which one of the following is | 17. Frifeifaa # & Fr-a1 T Ghferd T& &7

mismatched?
8 A 1 (a) &4 1. St R 31T sreatene,
(a) Keynes 1. Gene eory o >
employment, interest T
SnctoRey (b) fem 2. ¢ R ¥ ¥e anfea
b) Hicks 2. A theory of trade
&t cycle (c) fieea welq 3. Tl 37 qitshedH
(c) Milton Friedman 3. Permanent income | (d) %2 4. oy fag=
hypothesis
(d} Pareto 4. Profit th.eory 18. um m:ﬂ 'Eifl'l 1 -ﬁ!i W _% i
Fy frafafas sl § & e = @
18. “Supply creates its own demand” is =g ’7
associated to which one of the
following economists? (a) T=H &y
(a) Adam Smith (b) So &fio |
(b) J.B. Say (c) T
(d) Keynes

19. % Y@ eSS a8 H HEm @rE

19. What will be the marginal cost of a pure Brfi?
public goods?

(@) A
(a) Zero
(b) HATHS
(b) Positive
FOTIcHeh
(c) Negative @
(d) THIE SR

(d) Equal to unity

20. If MPC =0-75, then the value of 20. Ff2 3w A Hw= 5GH™ (MPC) =0-75 ,

investment multiplier will be @ P o 1 7 g
4
@ 3 @ 3
(b) 4 (b) 4
1 1
(c) 2 (©) =
3 3
s @ 7

/22-B 42
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21.

22.

23.

24,

/22-B

According to Keynes, investment
demand depends on which two factors?

1. Income of the consumers
2. Rate of interest
3. Marginal propensity to consume

4. Marginal efficiency of capital

Select the correct answer using the
codes given below,

(a) 1 and 3
(b) 2 and 4
(c) 2 and 3
(d) 3 and 4

If the supply curve is S=2p2 —-10, what
will be elasticity of supply at p=10 unit?

(a) Less than unity
(b) Equal to unity

(c) Greater than unity
(d) Infinity

Demand function is a monotonic
function of price.

(a) increasing
(b) decreasing
(c) Neither increasing nor decreasing

(d) constant

If the demand curve is x=1—%Q, what will
be elasticity of demand at p=10 unit?

(a) Half
(b) One
(c) Zero

(d) Infinity

43
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22.
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24,

GET IT ON
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. %8 % FgER, Few-un fefafe § B

31 e 9 st et 27
1. 39¥R A
2. o 6l

3. 39dm f e waf

4. qsit i dmra e

He g T F2 1 owEm W@ IR
i

(a) 13Rr3
(b) 2 34
(c) 233
d) 334

72 3mgfd 9% S=2p2 -109), A p=10 T
?q A9 i @ 7 B

(a) TFEQ FH
(b) THIE & S
(c) %1% | 3ferm

(d) 3

i Fe B HAd F1 TH

(a) &1 B3 BeA

(b) el B3N He

(c) 7 & =g g3 3R 7 A " gon Fed
(d) ToR weH

w&ﬁnaﬁx-Jﬁr @ p=10 TS &g HM
$ a7 e

(a) =R

(b) TH

() A

(@ A=
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25.

26.

27.

28,

29.

The slope of the general supply curve is
(a) positive

(b) negative

(c) zero

(d) infinity

If MR is 15 unit and AR is 20 unit, what
shall be price elasticity of demand?

(a) One

(b) Greater than one

(c) Less than one

(d) Infinity

In which goods, consumer reduces
consumption when its price falls?

(a) Superior goods

(b) Inferior goods

(c) Giffen goods

(d) Neutral goods

The slope of consumer’s indifference
curve shows

(a) the price ratio of the commodities

(b) marginal rate of

substitution

commodity

(c) factor substitution

(d) None of the above

Revealed preference theory is based on
(a) cardinal utility

(b) ordinal utility

() market behaviour

(d) behaviourist ordinal utility

44
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26.

27.

28.
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I A 55 R 2T A R
(a) Y-TcHS

(b) FRUTTcH

I e axg A Fima 921 W 39 T
m &7

() #B TR
(b) f= =g
(c) Tt =g
(d) A a%g

SYNITH % SHTTH 956 il BTe Sl 8
(a) &G % A UG B

(b) gt % v i Hiwra 7 H
(c) T WfeReTaH i

(d) 39 H | FIE T

29, IgaTRa AftmE frgr saia &

(a) TUETETES IR W

(b) FEHEATES® I W

(c) ¥R % FTER W

(d) SATERVETE! FHATEH ST 9
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30. Total

31.

32.

productivity of a factor of
production will be maximum when

(a) marginal productivity of the factor
is positive

(b) marginal productivity of the factor
is negative

(c) marginal productivity of the factor
is zero

(d) marginal productivity of the factor
is constant

If the value of elasticity of demand
is 3, the relationship between average
revenue (AR) and marginal revenue (MR)
can be expressed as

() AR:%MR

(b) MR= % AR

(c) MR:% AR

(d AR=2MR
3

Which type of returns to scale is
provided by the linear homogeneous
production function?

(a) Increasing returns to scale
(b) Constant returns to scale
(c) Diminishing returns to scale

(d) None of the above

33. The most comprehensive measure of

/22-B

aggregate price level is the
(a) consumer price index
(b) producer price index
(c) GNP deflator

(d) wholesale price index

45
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Google Play

80. IR & FNh hl GFdl IAEHAT AUFIN T4

B, 51|

(@) FHRF F) H9T IAEFAT TAHF B
(b) N h HHT IeqEHaT FOTEF 7
(c) e W= el 4 A
(d) FRF Ft i IuEED R

31.3R A H d= W AW 3 A, @ hew

¥ (AR) @91 HHW ¥ (MR) # gy
Trfefaa § & fred weftfa gm?

(@) AR=1MR
3

(b) MR-—-% AR

() MR=1AR
3

(d) AR= % MR

32. e guim IR wo A Y vER ¥

%1 Wawe W8 Bra 87

(a) ed §Y IH 1 wfawa
(b) TR ¥R =1 yfawa
(c) BEHH YW 1 Sl
(d) I & A FE 7

33. T e T G = A

(a) STHIH YA GIFF

(b) I oo YoHH

(c) THA TEA IR A9THaF
(d) 9 oA o
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34. In which period, the law of diminishing | 34. ¥R 1 grEWH Yiowe From fFa F H &L

returns to scale holds true? Bran &7
(a) Market period (a) SR T
(b) Short period (b) SACTHRIA
(c) Long period (c) < Hd
(d) Secular pt;riod (d) ﬁﬂﬁ FTE
35. If the total cost function is 35. I gahel ATTa B

o S 2
C—Ex -4x“+100x+108 C=%x3—4x2+100x+108

Er;a;:c? will be average fixed cost at x=9 g;ﬁ:h x=9 THE %@ g R wFE
(@) 10 unit ot
(b) 12 unit o
() 100 unit e
(d) 108 unit i 108t
36. le::ves:;ape of an average fixed cost [ T s At
(a) straight line (a) w@ @i
(b) parabola (b) TEwE !
(c) rectangular hyperbola (c) STHATER AfquEed |
(d) circle (d) T

37. The general shape of a total cost curve is 37. T T 1T 95 1 A STH ol ¢

(@) linear (a) Ma=

(b) quadratic (b) feumda

(c) third-degree curve (c) Prarfma®

(d) polynomial of nth degree (d) nth ®ife F FFEE

/22-B 46
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38. Which of the following is the correct

39.

41.

/22-B

relationship  between elasticity  of
demand (e), price of the product (A) and
marginal revenue (M)?

(a) M=A(e+é)

o wea()
o w5
d M=A i;_)

Pure monopolist can determine
(@)
(b)
(©)
(d)

price
output
either price or output

None of the above

. The market price in perfect competition

is determined by the

(a)
(b)

profit maximizing condition MC =MR

operation of demand and supply
mechanism
Government

(c)

(d) average cost

Price discrimination is profitable when
the price elasticity of demand in the two
markets is

(a)
(b)
()
(d)

different
same
always equal to unity

infinite

47
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38. 11 H T (¢), IR F Fma (4) 771 T

39.

41.

@ (M) F 7 Prafafa § 4 Fe-a wh
ey 27

(a) M:A(e+—i)

% TR o # g 2
(a) Hma

(b) IR-AT

(c) I FHa I IqE-E
(d) 394 F A 1§ T

. o e & STeR i 1 Pt g i

(a) =™ feFaw ¥9 $i 7§ MC=MR ¥
(b) w1 3R gfd 6t gensit i saEr yomeh ¥
(c) TR g/

(d) fa @ e |

#IAd fadis 7 v ¥4 & 5= 21 @ § wt
#i e &=

(@ Pma

(b) &WF &

(c) Ued THTE F T A

(d) <R
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42. In the monopolistic competition

(a) single firm close

substitutes
many firms
substitutes

produces

(b) produce close
many firms produce differentiated

products °

(c)

(d) None of the above

43, Which one of the following expresses
the total demand for money (L) as
described by Keynes for determining
the rate of interest?

@ L=LirY)
(b) L=Ly(Y,7)
() L=Li[Y)+L2a(r)
(d) L=La(Y)+Li(r)
44, “Rent is a differential surplus.” This
concept relates to
(a) Ricardo
(b) Marshall
(c) Pigou
(d) Adam Smith
45, Match List-I with List-II and select the

correct answer using the codes given
below the Lists :

List-I List-II
A. Liquidity trap 1. Marshall
B. Adding up problem 2. Chamberlin
C. Group equilibrium 3. Euler theorem
D. Quasi-rent 4. Keynes
Codes :
(a) A B 0 D
4 3 2 1
() A B & D
1 2 3 -
(c) A B C D
2 1 B 3
@ A B C D
2 B 1 3

/22-B
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42. TR Wiaamar 3
(@) T B e THMTIH] 1 IeaeA Fd! &

(b) 3 ke TIFTIET 1 IeATEH A €
() = wi fadifea st =1 seamen w=ll §
(d) IHF & | F§ T

43. Prefaflas # 4 F9-w @ FS A

fufor % foe %= g afla g« g3
(L) T = T &7

(@ L=LrY)
(b) L=Lp(Y,7)
() L=Ly(Y)+L2(r)
(d) L=La(Y)+Ln)

44. ‘@ vE faveeds ey R) FE 9wom
et 27

= F
1 Hf

(a) TrEl
(b) wTEA
() g
(@) e B
45. g-1 1 g1 | gafea i ik $9 fe
Y e = FEEA | FEl IW gAT :
-1 T-11
A. T A 1. Hod
B. wIg $ @5 2. <Rl
C. g Tger 3. TR T
D. ¥TH &TH 4, F4
E T
@ Ang B o@D
4= 98 '0 th HEeY
(b)  #A B AC D
1.2 DI ey
€. BB C D
P L e
(@ - CATIE T G D
o Ml Mt E
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46. If we double the money supply in

GET IT ON
Google Play

46. 3fe 4z % v frgra & TR % e §

Fisher’s equation of the quantity theory,
the price level will be

(a) halved
(b) doubled
(c) unchanged
(d) only a little higher
47. In the Keynesian liquidity preference

theory of interest, the liquidity trap
indicates

(a) perfectly elastic demand for money

(b) perfectly inelastic demand for

money
(c) zero supply of money

(d) inelastic supply of money

48. Who said that “Inflation is unjust and
deflation is inexpedient—the latter is
the worse”?

(a) Marshall

(b) Robertson

(c) Crowther

(d) J. M. Keynes

49. Which one of the following is an example
of open market operations exercised by
a Central Bank?

(a) Sale of gold to goldsmiths

(b) Sale of Government securities
to commercial banks and other
financial institutions

(c) Sale of dollar to foreign exchange
banks

(d) None of the above

50. Flexible exchange rate is based on the
concept of

(a) demand theory
(b) supply theory
(c) both demand and supply theories

(d) neither on demand theory nor on
supply theory

/22-B 49

51 9fd 1 A T S, A Fiwa TR @ S
(a) e

(b) AT

(c) IRafa

(d) Faa TS A=

7. 9 F WoAql JH === F g ¥ waa

e g9 &

(a) Ui SRR ga1 <6 A
(b) Yofaen Sefr=Er gg1 A wi
(c) TR A A I

(d) TR Sl g

48, fFEd wE % “EEdifd sEmg @ sk

TEEG FAEENE e—aH § § 9) awe
TEr?

() WTEIE
(b) Tadad
(c) R
(d) So THo FH

49, F=faflad § 4 FH-°1 T, F=9 9% TN

FaeR # @ TR, A SR S sl @
IE 27

(@) GIR 1 @i i foh

(b) AW o a1 FAF T deyE =
THHI gfegfeat < fash

(c) TReft fafmma &= =i sier i foeh
(d) 9w # | F15 T

0. Tl faf o 1 faem snuiE @

(@) =M% fagra w

(b) ufd & frgra w

(c) Wi qen gfef <M Rrer=i

(@) = @ =it fagra w i T @ o e
g1

[ P.T.O.
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51.

52.

53.

54.

International trade is a special case of
interregional trade because

(a) comparative  cost
applicable to all trade

theory is

(b) immobility of factors is not a special
feature of international trade

(c) the general equilibrium theory
of wvalue is also applicable to
international trade

(d) All of the above
Which one of the following is the

cause of international trade as per
Heckscher-Ohlin trade theory?

(a) Difference in costs

(b) Difference in wants

(c) Difference in currency systems

(d) Difference in factor endowments
Dynamic factors in the trade theory refer

to changes in which of the following
factors?

(a) Factor endowments

(b) Technology

(c) Tastes

(d) All of the above

Which one of the following is not
an international financial institution?
(a) IMF

(b) World Bank

(c) State Bank of India

(d) Asian Development Bank

55. Which one of the following pairs is not

/22-B

correctly matched?
(@) IBRD : 1944
(b) IMF : 1947
(c) IDA : 1960
(d WTO : 1995

50

51, B YR, FREEE ANR 6 T e

ey B, Fih

(@ ¥fi T® F FANUR W gEAIHF ArTa
Rrgra framsfia e 2

(b) T N IPTferEierar F=RigE AMR
oty frstear =&t &

(c) ¥WH dge &1 qed g oft s
R R i g @

(d) 39w T+

52. Fafafad § @ F9-1 & Fag=t-aefm &

R fagra ¥ IEER AT SR w\
FROT 87

(a) <APTEl T T

(b) AEEIEAIS §
(c) i yonfet F st
(d) A fommE § s

53. fr=faflas § 4 F9-91 #1F =R fagra

WA R ) Gaiid Htal 87
(a) TIEAT I Il

(b) WreNfEh

(c) il

(@) I &

54. fefoflad # § #F-w1 & s R

e E 27

() STIE o1 1Y (IMF)
(b) fava &=

(c) Ve dF i 3=
(d) TREE T 9%

55. frafafaa gmt # § FF-w1 = gafea =4 27

(a) 330 e HWo o : 1944
(b) 3Mgo THe The : 1947

(c) #mgo o To : 1960

(d) T=Fe o 3o : 1995
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56. On which basis ‘protection tariff is
imposed?

GET IT ON
Google Play

56. T8 SNYR | HE Yo @1 S 27

(@) FE F FUR W
(@) On the basis of purpose 5
b) SIFER f9E F sur W
(b) On the basis of countrywise )
discrimination (c) W=y & SUR W
(c) On the basis of retaliation (d) EE F MER |/

(d) On the basis of preference

57. TR F1 Fefafes § ¥ o W sgEa
J9TE g2 ?

(a) < FH GG TG FA H F0EAT

(b) HHE FA U FEA B i 59D

(c) g % forawor § syEwHaIs + 9 F
(d) AR # e

5§7. On which of the following, taxation will
have positive impact?

(a) Ability to work and save
(b) Desire to work and save

(c) Reduce inequalities in distribution
of income

(d) Increase in employment

58. TFa T & o fagdw wwa T 27
58. Shifting of tax is not possible in case of

(a) Tohi =
(a) sales tax (b) EQ'QE Eo—
b) GST ;
) (c) HARSH &
(c) entertainment tax
(d) IR F

(d) excise duty

: i ™ ¥ IuR
59. Which economist has classified public 59. T Sfamell 3 AT =@ A

expenditure on the basis of revenue? & EFH??I fn &7
(a) Wagner (a) 9TR

(b) Pigou (b) F]

(c) Dalton (c) T

(d) Nicholson (@) T

60. What is the nature of goods and services 60 @ Y9 A ;@;ﬁ w1 27
tax? Sl

(a) It is a kind of sales tax (a) ME R FTTFR R

(b) GST is value-added tax

(c) It is a destination tax

(d) It is imposed at every level

/22-B 51

(b) Sio THo FHo Feuatea s B
(c) 9% T 3ifeq 95/ # = '

(d) 3 YEIF TR T GE S R
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cIvics / AT e

1. The Constitution of India declares India
to be which of the following?

(a) A Voluntary Federation
(b) A Confederation

(c) A Union of States

(d) A Federation

2. The Constitution of India entrusts the
Residuary Powers to which of the
following?

(a) States

(b) Union

(c) Both Centre and States
(d) None of the above

3. Who was the Chairman of the Drafting
Committee of the Constitution?

(a) N. G. Ayyangar
(b) K. M. Munshi
(c) D. P. Khaitan
(d) B. R. Ambedkar

4. Who was the legal advisor of the
Constituent Assembly of India?

(a) H. N. Kunzru

(b) B. N. Rao

(c) Sachchidananda Sinha
(d) B. R. Ambedkar

5.In which year did Gopal Krishna
Gokhale become the Chairman of the
All-India Congress Committee?

(@) 1897
(b) 1905
(c) 1907
(@) 1912

/22-B 52

1. YA &1 Gig™ ¥rg ® Fefafed 8 @ =0

=Y Tl &7

(a) & wfe® uy

(b) TF UREH

(c) T 1 T qfa (W)
(d) TEI

. YRa &1 gfaum F=fefaa 8 4 frow safe

wierat gan &7
(@) T=H1 I
(b) &3
(c) 3 T T qH] HI
(d) I9dw 3 | IS T

. Ffaum #i ey |fufy =1 Jwmyg F9 97

(@) TWo Sflo IR
(b) o THo HIM

(c) Zio dio @am

(d) o Mo ==

. Ra i "faum FEE a9 &1 FE g

FH 17

() THe Wo Fe
(b) “fle Te TE

(c) uhEEF= R
(d) o Ao r=EEH

. TTE F9 TirEe fFe 9 sifae-awd F:im

affe ¥ e =4 47
(@) 1897
(b) 1905
() 1907
@ 1912
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6.

7.

10.

/22-B

Which of the following pairs is not
correctly matched?

Fundamental Rights Articles
(a) Right to Equality : 14-18
(b) Right to Freedom

of Religion : 23-24
(c) Cultural and

Educational Rights : 29-30
(d) Right to Freedom 19-22

An Inter-State
established by

(a) the President

(b) the Parliament

(c) the National Development Council
(d) the Zonal Council

Council may be

How many Schedules are there in the
Constitution of India?

(@) 9
(b) 10
(€ 11
(@ 12

Consider the following Committees on
Panchayati Raj and arrange them in
chronological order :

1. Ashok Mehta Committee

2. Balwant Rai Mehta Committee
3. L. M. Singhvi Committee

4. Thungan Committee

Select the correct answer from the codes
given below.

(a) 1,2, 3, 4

(b) 2,1, 3,4

e) .3, 271,4

d 4,3,2,1

Who decides to
Elections?

hold Panchayat

(a) Union Government
(b) State Government
(c) Election Commission
(d) District Judge

53

6. f=fefad 3 § #R-w1 gm ghfea & &7

wifers arfer AT
(@) FHHAI F1 AFR : 14-18
(b) e T o ARFER ;2324
(c) weapfa AR foven gaed

R 29-30
(d) =da=a F AFR 19-22

7. U g uftyg ) Treen i S g g
() Tl B
(b) EHE W
(c) T o itwg B
(d) &3 afeg gm
8. W "igu™ 7 frat st 27
(@ 9
(b) 10
() 11
(d) 12

9, YuEdl TS ¥ watva frefafes afifai «
faer i 9o IR FeEIEER  FEe

Hifsm -

1. 379 Hgal |ifa

2. gad T Hea |t

3. T THo Thea wfufa

4. 9 afufa

# g e gz # ¥ @ I gf
@ 1,2, 3,4

d) 2, 1,3, 4

© 3,2,1,4

@ 4,3,2,1

10. YA gE A oy Foia s gm fem

ST 87

(a) F5 THR
(b) TST FHR
(c) T Aw
(d) Toren =mnd

[ P.T.O.
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11. ‘2 veft’ Frfelaa # & frww gou @ 27

11. ‘Spoils system’ is another name for

which of the following?
(a) Guardian bureaucracy
(b) Caste bureaucracy
(c) Patronage bureaucracy

(d) Merit-based bureaucracy

(a) HAfysrEs Rl

(b) ST e

(c) H&H ArFEE

(d) Trar-SraRE AR

12. Irll 1‘3(185, the'Prime Nt!inistfr of In«t:l}:ia 12. 1985 ¥, wrdE wuEEH 3 R § &fm
played an important role in the ;
establishment of which organization for mﬁ :I ﬁ“lﬁ : w N T # wEE

the regional cooperation in Asia?

(@) South Asian  Association for
Regional Cooperation

(b) Association of South East Asian
Nations

(c) Bay of Bengal Economic

Cooperation Organization

(d) All of the above

(a) afEon oftrd &eE weam e
(b) =fEor e TR T S He

(c) e N @rE F AfeiE wEEm 99
(@ SHEE B

13. 71 A F ffe ridem +1 dwamE @ T

27
13. Who among the following is not a :

founder leader of the Non-Aligned (@) 9o TEw
Movement? (b) wH .
(a) Pt. Nehru

(c) wiE &2
(b) Col. Nasser

(d) e T

(c) Marshal Tito
(d) Col. Gaddafi

14, VAT HRYA F FH-E IR A-RIEE

q*q'tﬁ' | Hattg 87
14, Which Article of the Indian Constitution | ¥
is related to International Relations? (a) maﬁ';a 50
(a) Article 50 (b) w 51
(b) Article 51
(c) FF=d2 52
(c) Article 52
(d) Article 53 () =7 53
15. Which of the following is not a principle | 15. ﬁ'ﬁﬁ-‘fﬁiﬂ A 4 -9 9 faew Aifa A
of PANCHSHEEL in Indian Foreign T¥ite 1 faera =i 87
Policy?
(a) SHATHHOT
(a) Non-aggression
(b) Non-interference (b) S i
(c) Peaceful coexistence (c) WAyl HefR
(d) Realism (d) FUaTE

/22-B
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16. Who is called the ‘Father of Liberalism’? 16. ‘TERAR F % 64 Fel S &7

(@) T. H. Green (@) do THo TH
(b) Hegel (b) &

(c) Karl Marx (c) Tel A
(d) John Locke (d) S s

17. “Liberty is the opposite of over- 17. ‘@ Afa-wmea &1 T 2 w3 e
Government.” Who said this?

ETl
(a) Laski (@ 5
(b) Locke (b) <
(c) Seeley © @
(d) J.S. Mill @ Yo e i
18. The concept of sovereignty is primarily
which of the following? 18. gﬂﬂ"" 1 srauren Fefifea & § gega: 7=
(a) Political :
(b) Legal (:’ ML
(c) Philosophical (b)
(d) None of the above (©)
@) IF # 8 HE T
19. Which of the following is/are the
attribute(s) of sovereignty? 19. f=fefad § & #H-H weygar 6 faEman(d)
1. Permanence B/8?
2. Universality 1. ¥
Select the correct answer using the 2. wEsfi
codes given below. ﬁ%ﬁquﬁewmm e mgﬁm
(a) Only 1 (a) ¥ 1
(b) Only 2 (b) 3w 2

(c) Both 1 and 2
(d) Neither 1 nor 2

(c) 17k 2 &M
d JI@I1, A8 2
20. Frafflas 3 ¥ FH-6 doErs T 6
fordoan 7t 27
(a) THHTA I LA
(b) “FraTfersRt =1 Fify=a srlse
(c) Close relationship between the . o
legislature and the executive (c) =Y UE FEIerR ¥ o9 uiHE FEy
(d) Collective responsibility (d) wmfEs IR

20. Which of the following is not a feature of
parliamentary form of Government?

(a) Nominal head

(b) Definite tenure of the executive

/22-B 55 [ P.T.O.
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21.

22.

23.

24.

25.

Identify the correct pair related to

fascism.

(a) Italy—Mussolini

(b) Germany—Mussolini

(c) Italy—Hitler

(d) Germany—Hitler

Who among the following thinkers is

associated with the theory of Natural
Rights?

(a) Locke

(b) Bentham

(c) Green

(d) Marx

Who among the following is the
propounder of Scientific Socialism?

(a) J. S. Mill

(b) Karl Marx

(c) Laski

(d) None of them

“Law is a command given by a superior
to an inferior.” Who said this?

(a) Bodin
(b) Hobbes
(c) Austin

(d) Bentham

“Political liberty without economic
equality is a myth.” Who said this?

(a) J.S. Mill

(b) T. H. Green
(c) Laski

(d) G. D. H. Cole
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26. Which is the oldest theory of State
origin?
(a) Divine Origin Theory
(b) Force Theory
(c) Social Contract Theory

(d) Evolutionary Theory

27. Which is the most important element of
a State?

(a) Population
(b) Territory
(c) Government

(d) Sovereignty

28. “Political Science is concerned with the
State and its instrumentality-
Government.” Who said this?

(a) Garner
(b) Dimock
(c) Gilchrist
(d) Seeley

29, Which of the following is not a theory of
punishment?

(a) Retributive
(b) Deterrent
(c) Distributive

(d) Reformative

30. Who among the following has not
supported pluralism?

(a) Webb
(b) Lindsay
(c) Krabbe

(d) Hegel
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31. Which of the following pairs is not

32.

33.

34.

35.

correctly matched?

Theory of Rights Viewpoint
(a) Theory of Rights are
Natural Rights pre-civil
and pre-
social
(b) Legal Theory of Rights are
Rights creation of
the State
(c) Historical Theory : Rights are
of Rights crystallization
of customs
(d) Realistic Theory : Rights are
of Rights powers of
Man
Which of the following is not a trait of a
political party?
(a) Organization
(b) Use of unconstitutional means
(c) Belief in democracy
(d) Ideological unity

Who among the following has referred to
Pressure Groups as ‘an anonymous
empire™?

(a) Finer
(b) Castles
(c) Rodee
@

Who propounded the ‘Class Theory of
State’?

(@)
(b) Engels

(c) Lenin

(d) All of them

None of them

Marx

Who described Man, in the State of
Nature, as noble savage’?

(a) Thomas Hobbes
(b) John Locke
(c) Rousseau

(d) None of them
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Which of the following is a famous book
of Aristotle?

(a) The Republic

(b) The Social Contract
() Laws

(d) Politics

How many chapters there in

Manusmriti ?
(a) 10
(b) 11
(c) 12
(d) 21

are

Das Kapital is a writing of which of the
following thinkers?

(a) Hegel
(b)
(c) Lenin
(d)

Marx

None of them

‘PAN OPTICAN’ is a model example of
which of the following?

(a) Jail

(b) Education system

(c) Legal system

(d) Kitchen

. Which of the following books is written

by Bal Gangadhar Tilak?

(a) The Arctic Home of the Vedas
(b) Gita Rahasya
() The Orion

(d) All of the above

What is the sub-title of Plato’s Republic?
(@)
(b)
(c) Concerning Politics
(d)

Concerning Justice

Concerning Education System

Concerning Sophist Class
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42. “Human  consciousness  postulates 42, '‘HE S WA F FHEA ) 8, o

liberty, liberty involves rights and rights 7 YR wite 2 3R ftsr =g 6 "
demand the State.” Who said this? @ 517 7' e wa?

() Green (@)

(b) Laski (b) @R

(c) Barker (© =R

(d) None of them

(d) T ¥ Fré

43. Who among the following made a B ¢ , ‘ )
distinction between ‘self-regarding’ and 43. 74 3 o r

‘others-regarding’ actions? & 7 s fFa?
(a) James Mill (a) = fire

(b) Jeremy Bentham (b) SRt e
(c) J.S. Mill (c) o THo fie
(d) None of them (d) T | HIE e

44, Who is considered to be the Political 44. wee T w1 ‘asEfE '35’ 58 g S 27
Guru’ of Mahatma Gandhi?

@ Too=
(a) Tilak

(b) @A
(b) Gokhale
() Dadabhai Naoroji (c) TS A
(d) None of them (d) T A HE A

45. Who has referred to Tilalt'as Father of | | 1> g'ﬁaﬁ: 1 IRdE il F S A e

Indian Unrest? !
(a) Valentine Chirol (a) A= ot
(b) Wordsworth (b) agHad
(c) Annie Besant (c) U =@=
(d) None of them (d) T A 7 T
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46. Match List-I with List-II and select the | 46. H=i-1 #I Fei-11 ¥ gafera Fife o gl &
correct answer using the codes given = faw 10 F2 F1 W@ W ad W g
below the Lists :

; Heft-1 Teh-11
s Bist (Férerr) (Ff)
(Thinker) (Writing) : -
: A. ETeH 1. g G Fiede
A. Hobbes 1. The Social Contract 5
B. Locke 2. Leviathan < g 2. cifrer >
C. Rousseau 3. Two Treatises on G 3. QslETENd Ak
Civil Government fafaet maae
Codes : %<
(a A B c (@) A B C
1 2 3 1 2 3
(b) A B & (b) A B e
1 3 2 1 3 2
) A B c ) A B c
R el ‘
(d) None of the above (d) ?Flﬂ?ﬁﬁ Y Fr3 &l ‘

47. “Freedom is our birthright and we shall | 47. ‘&S T SHRkig AFR § 3R 0 @
have it.” Who gave the slogan? AR @1 T8 A e et
(a) Gandhi (a) et
(b) Tilak (b) oo
(c) Gokhale () MEA
(d) Nehru (d) IeE

48. Plato fixed the population of an ideal 48, WA A T 37ey TS i sHeEn PR 6 2
State at

(a) 1800 =AfH
(a) 1800 persons
40 =g
(b) 5040 persons (0 ~=008
(c) 10000 persons (6). 10000
(d) 20000 persons (@ 20000 =

49, Which political thinker wrote in his 49. gq.,:l l““ﬂ” -:"I e iﬁ”“ﬁ”r” ﬁm”ﬁ IEIE.’
autobiography that “His mother gave 3"515'” T!Fa’[ i R
birth to twins—himself and fear”? EilE R
(a) Jean Jacques Rousseau (a) S SE w41
(b) Thomas Hobbes (b) 979 BTH
(c) John Locke (c) i &Th
(d) None of them (d) T F FE 7

/22-B 61 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addal2417 i

L GET IT ON
Google Play
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50. In the absence of the President of India,

/22-B

if Vice President is not available, who of
the following can act as the President?

(a) The Chief Justice of India

(b) The Prime Minister

(c) The Speaker of the Lok Sabha

(d) The Attorney General of India
Who summons a Joint Sitting of the Lok

Sabha and the Rajya Sabha under the
Article 108 of the Constitution?

(a) The President of India

(b) The Speaker of the Lok Sabha

(c) The Prime Minister

(d) The Chairman of the Rajya Sabha

. Which of the following Articles of the
Indian Constitution vests in the
President of India, the power to issue
ordinances?

(a) Article 74

(b) Article 78

(c) Article 123

(d) Article 124(2)

Fundamental Duties were included in the
Constitution of India on the recommen-

dation of which of the following
Committees?

(a) Balwant Rai Mehta Committee

(b) Ayyangar Committee

(c) Swaran Singh Committee

(d) Thakkar Committee

By which Constitutional Amendment,
the number of Central Ministers has

been limited to 15% of the total number
of members of the Lok Sabha?

(a) 91st
(b) 92nd
(c) 93rd
{d) None of the above
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(a) DR 74
(b) “3g=a% 78
() IT=3% 123
(@) DT 124(2)
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e Faaal 1 TRdE gfaam § e ™=
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55. Which Article of the Indian Constitution
has provision for the Election
Commission?

(a) Article 320
(b) Article 322
(c) Article 324
(d) Article 326

56

What is the name of Mahatma Gandhi’s
Ashram in South Africa?

(a) Phoenix
(b) Sabarmati
(c) Satyagraha
(d) Sarvodaya
§7. Which of the following Houses is

presided by a person who is not a
member of that House?

(a) The Lok Sabha
(b) The Legislative Assembly
(c) The Rajya Sabha
(d) The Legislative Council
58. How many times has Financial
Emergency been imposed in India?
(a) Three Itimes
(b) Two times
() Once
(d) Never
59. When can the Speaker exercise casting
vote?
(a) On impeachment resolution
(b) On a bill related to the Article 368
(c) On a bill related to the Article 52
(d) On getting equal votes
60. Which part of the Constitution of India
. is related to ‘Citizenship”?
(a) Part II
(b) Part III
(c) Part IV
(d) PartV
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FA1 2 SN 39 HeA 1 T At gt
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(b) SR
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